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33 X0 23=2Y
telr AqFEs X (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
23R = 2,157,027 2,560,949 A403,922
sS850l 2329 2,060,927 2,3%,517 A344,590
cggs A 2,050,927 2,3%,517 A344,590
dgs N Hat 1,895,593 1,902,562 6,969
201 fer= 3| 103,508 96,600 6,908
01 At 2|l 69,480 59,320 10,160
O2lEda ARES 7Y
2,000,000& *14] 2,000
O=AMEX & Zgiy 4225 P2 18,000
O2AE Zck=AD| Xtz
260,000 «2CH* 12& 6,240
O238& MAFL(S00H)
2,0002 x25+1,000H 4,000
OgAe Hellal, us 828 S 2388 &+
AR 100,000& »202] 2,000
Ougd =g 200,000 x5 *33] 3,000
OLIAIRS| &4 4g
70,0002 x4 =33 840
OZR2YSE MARLAS &M +g
70,0003 x5 E 32 1,050
O M= EE 29 &4 ¢
70,0003 12223 1,680
OgsLEN=EEl 22 F4 =&
70,0002 x0H *23] 1,260
O3 =&8& M 10,000 «2000H 2,000
OoEALAHH S 25 219 HA MH
500,000& 62 3,000
O olFois DY)
650,000 x10& *13] 6,500
Odzu=) |2 AFUS
50,0003 15 +3& 2,250
OYUHHE D2HBA FRLL
200,000& «2H* 123 4,800
o2 g2 =8 MH
15,0003 220 3,300
ORXIotH =] & EH HIY M=
260,000 +6& 1,560
ONoty =Eb| &, Xz, ¢ S
& 6,000,000& 14 6,000
02 S3=gl 27,428 30,680 N3,252
OSSXE NSIHAl 1,108
-5 UE s 62,0002 *4CH 248
-tdgss 860,000 *1CH 860
O3Ex 8= 3,440
-5 e s 680,000 ~4CH 2,720
-HEgss 720,000 1CH 720
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33 X0 23=2Y
el oZggs N (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=EXY F&U & =4 15,600
-3 g s 2,500,000 *4CH 10,000
-Ugss 5,600,000 1CH 5,600
O ggs +~ds FUE 2=
120,000 =2CH* 122 2,880
OFE A A2 EHI FXIHI
3,000,000 *14] 3,000
OoRER3 1,400
03 &A= 6,600 6,600 0
OEE3l, MOILt, &H3
2,200,000 #32] 6,600
202 04l 39,750 50,000 210,250
04 =NI2t01] 33,000 45,000 A12,000
Ood+d S2A =201
4,000,000& +7H 28,000
OUFREA & L2+ 2 =204
2,500,000 «2& x13] 5,000
05 SR W0 6,750 0 6.750
Odzu=) |2 AFu=Sd 0|
150,000 » 15 x3 6.750
203 HR=H] 13,000 11,700 1,300
03 A=A RN 13,000 11,700 1,300
O22AT= a2 R 7,000
OdERRY HRFH
2,000,000 *3H 6,000
205 2|5/H| 1,736,835 1,711,377 25,458
01 28 &=H] 330,000 330,000 0
O gizg=8 A7H|
900,000 x25EH « 12 270,000
OEX&sH| 200,000 x25H * 12& 60,000
2 8= 782,031 768,960 13,071
O2d=¢ 2,606,770 x25&» 122 782,031
03 2| =LHOHI 21,000 21,000 0
O =, £&, MOILI & &4 04l
840,000& x25H 21,000
04 2A =204 122,437 113,750 8,687
O sF=2UEd 0yl
4,000,000& 254 100,000
OXll - RSEHZAl S =204 22,437
06 od=g33dl 156,397 142,597 13,800
O g=2g 88 &l 5,145,000 «25& 128,625
OuaZ2ASER2 ] ZY|
998,000& 14 13,972
OudHH =29 24| 13,800
06 2lsl =2 HRF&| 98,850 98,850 0
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33 X0 23=2Y
telr AqFEs X (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O2zl2gedR=at] 98,850
-9 2,830,000&x1&~12& 33,960
-2 1,370,000 x1&* 122 16,440
- HYAAY 950,000 x4H12& 45,600
-l BASER S
950,0002 1«33 2,850
07 SIAALNLH(SSE, ML F) 7,400 12,300 4,900
OXgoad S3712 A wstl
200,000 +25%H 5,000
OXZod St A=
1,200,000 22 2,400
08 2l AZINLYI(212+2E) 22,500 22,500 0
OXlgojd izt m=J|2t e n=H|
900,000 *25%H 22,500
09 2IHZ Iyl 125,000 125,000 0
OXgelsl =N
5,000,0002 x25H 125,000
10 AHSAMRE=S 12,000 10,000 2,000
O&=AZRAXIR2 2o EE e FE2
12,000,000& *13] 12,000
noA=2UASRE=S 28,980 34,464 Nb,484
O2A=UASRELES
115,000 x21H 122 28,980
12 =AU RES 30,240 31,956 A1,716
OLE=2AA2E=
105,000 x24E 122 30,240
405 AHAHE S 2,500 14,321 A11,821
01 AL =S F=H 2,500 14,321 A 11,821
O22E == &I uH
100,000 +25& 2,500
ogl2ge a4 M 56,414 64,655 N8, 241
101 @12A4H| 32,309 31,523 786
04 JIZtNZ22 NS+ 32,309 31,523 786
O |25 212 32,309
-g= 78,8803 x3H 100! 23,664
-RERLrE 78,8803 x38 »20 4,733
RPN =L 78,880 x3H+3 710
-4 28= 29,106,720 *11% 3,202
201 ger=3| 23,575 26,700 A3,125
01 AtR2te|H] 5,800 10,000 A4,200
OzI2F I 50,0002 x5 +43] 1,000
OFJIEHD| & =33l |FXE2+=H]
300,000 +2CH 600
O=3e =S =&
100,000& #3A1 2+« 143] 4,200
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33 X0 23=2Y
tel: 3gs N (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 16,700 16,700 0
O3ASAIAE FAIE=H|
625,000 * 122 7,500
OB XA AE S ==H]
600,000& * 122 7,200
O=22d FHaH| 2,000,000& %12 2,000
03 Ar=EHI 1,075 0 1,075
Ozx=s2slua 29 1,075,000& %12 1,075
301 EtE N = 250 250
11 #AIAMHIXIE S 250 250
OxS22lual FIHAF 2|
5,0002*13|+50&H 250
308 AtXIEHMSOIE 280 270 10
13 B2 S0ICHeH 2 A H RIS AL 280 270 10
OZAS 230 4+42 N2
13,9902 +20H 280
AYEs EX 98,920 428,300 A\329,380
201 er23| 95,100 99,700 24,600
01 At2teltl 71,100 71,700 A600
O3 AAM HMA(SE)
11,5002 6002 *12] 6,900
O2des 88 &=
1,000, 0002 x602! 60,000
OEEE 25 AN BHAR
200,000& *32 600
O3tizt 2 oHol3 HFX e
600,000 %14 600
O2lg| el 24X M= (FEH])
6,000 5005 3,000
2 35284l 24,000 28,000 24,000
OAIZ&Hl sl 24,000
- =59 AU LEFH KX
2 22,000,000 x14] 22,000
- JtHIetEHl |RXI2=
2,000,000 *14] 2,000
405 KHaHE SH 3,820 300,000 A296,180
01 AL =S F = 3,820 300,000 A296,180
OHEE NRHE 2EH
3,820,000 *1CH 3,820
Y= ZHI(AIAN2=) 106, 100 165,432 59,332
=238l 106,100 93,248 12,852
JI23Hl 106,100 93,248 12,852
201 =3 63,040 56,622 6,418
01 At22t2l] 63,040 56,622 6,418
Oget=ZH| 22,060
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